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Sample Paper – 2010
Class – XI
Subject -  Mathematics
General Instructions:
1. 
All questions are compulsory.

2. 
The question paper consist of 29 questions divided into three sections A, B and C. Section A   comprises of 10 questions of one mark each, section B comprises of 12 questions of four marks each and section C comprises of 7 questions of six marks each.

3. 
All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. 
There is no overall choice. However, internal choice has been provided in 4 questions of four marks each and 2 questions of six marks each. You have to attempt only one of the alternatives in all such questions.

5.
Use of calculators is not permitted. You may ask for logarithmic tables, if required.


SECTION – A


1.
If 
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2.
Find the principal solutions of the equation: 
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3.
Find the value of the trigonometric function: 
[image: image4.wmf]15

cot.

4

p

æö

-

ç÷

èø


4.
If 
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5.
Explain the fallacy:
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6.
Find the number of non-zero integral solution of the equation: 
[image: image7.wmf]x

x

1i2.

-=


7.
Solve: 
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8.
In how many ways can 6 different rings be worn on the four fingers of the hand?
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10.
Find the middle term in the expansion of 
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SECTION – B



11.
Prove by the principle of Mathematical Induction, 
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12.
Prove the following by using the Principle of Mathematical Induction:
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13.
If 
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Prove that: 
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14.
Prove that: 
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15.
Find the values of x and y, if: 
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OR

If 
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 is a pure imaginary number ; 
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16.

Solve the following system of inequalities graphically:
            
[image: image22.wmf]2xy24,xy11,2x5y40,x0,y0.

+£+£+£³³





OR






[image: image23.wmf]x2y10,xy1,xy0,x0,y0.

+£+³-£³³


17.

The longest side of a triangle is 3 times the shortest side and the third side is 2 cm shorter than the longest side. If the perimeter of the triangle is atleast 61 cm, find the minimum length of the shortest side. 

18.
In how many ways can 5 persons sit in a car, 2 including driver in the front seat and 3 in the back seat, if 2 particular persons out of the 5 are to avoid the driver's seat?
19.
In an examination, a question paper consists of 12 questions divided into two parts i.e. part I and part II, containing 5 and 7 questions, respectively. A student is required to attempt 8 questions in all, selecting atleast 3 from each part. In how many ways can a student select the questions?

20.
Show that the middle term in the expansion of 
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 , where n is a positive integer.

21.
Using Binomial Theorem, show that 
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 is divisible by 64, whenever n is a positive integer.

22.
Find the term independent of x in the expansion of 
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SECTION – C


23.
Find a, b and n in the expansion of 
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 if the first three terms of the expansion are 729, 7290 and 30375 respectively.

24.
Prove that : 
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25.
If 
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Find the values of x and y, if: 
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26.

If the 
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 terms in the expansion of 
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27.
A manufacturer has 600 litres of a 12% solution of acid. How many litres of a 30% acid solution must be added to it so that acid content in the resulting mixture will be more than 15% but less than 18%?
OR
A solution is to be kept between 30º and 35º Celsius. What is the range of temperature in degree Fahrenheit 
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28.
Prove that: 
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29.
How many words can be formed by taking 4 letters at a time out of the letters of the word ‘MATHEMATICS’?
Paper Sumitted By:

Name :MANOJ RAJURKAR 

Email : manojrajurkar@yahoo.co.in 

Phone No.  919425354446

9.	A person is to walk from A to B. However, he is restricted to walk only to the right of A or upwards of A, but not necessarily in the order shown in the adjoining figure. Determine the number of paths from A to B.  
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